FARD\RI4\DWGII\HT.DWG

<
(a4 094 Model A B c D E F G H | N J | K Ma Mb_ | Airinlet
44; ¢ Jf HT032 | 438 | 1.77 | 177 | 256 | 0.89 | 089 | 047 | 197 | 098 | 035 | FO3 | - | M5x75 - 1/8"
2x1/4"—20UNC HT-052 | 62 | 291 | 236 | 37 | 1.18 | 1.61 | 055 | 3.15 | 1.18 | 0.43 | FO5 | FO3 | M6x10 | M5x8 | 1/8'or1/4"
g\[> 4@ jL HT-063 | 7.48 | 3.46 | 272 | 425 | 142 | 1.77 | 071 | 3.15 | 1.18 | 055 | FO7 | FO5 | M8x13 | M6x10 | 1/8or1/4"
HT-075 | 8.09 | 3.94 | 311 | 472 | 1.65 | 2.05 | 079 | 3.15 | 1.18 | 055 | FO7 | FO5 | M8x13 | M6x10 | 1/8"0r1/4"

#10—32UNF-8

18 | 067 | FO7 | FO5 | M8x13 | M6x10 | 1/8"or1/4"
18 | 067 | FO7 | FO5 | M8x13 | M6x10 | 1/8"or1/4"

4 é W HT-083 8.31 429 | 346 | 508 | 1.81 2.07 | 0.83 3.15
HT-092 102 | 472 | 3.85 | 5.51 2.01 2.26 | 0.87 3.15

wn
o]
H
-
r
1
1
1
f-\|> E 1/4" NAMUR HT-105 [ 1122 | 524 [ 416 | 602 | 227 | 252 [ 1.02 | 315 | 1.18 | 0.87 | F10 | FOo7 | M10x16 | M8x13 1/4"
V6 1.57 HT-125 [1339 | 61 | 474 | 689 | 266 | 276 | 1.08 | 315 | 1.18 | 0.87 | F10 | FO7 | M10x16 | M8x13 1/4"
e HT-140 | 162 | 675 | 530 | 756 | 299 | 303 | 126 [ 315 [ 1.18 | 106 | F12 | F10 | M12x20 | M1Ox16|  1/4"
N}[> © —i 0.16 @ 4@* ‘f’ HT-160 | 187 | 7.76 | 626 | 854 | 330 | 344 | 134 | 315 | 1.18 | 1.06 | F12 | F10 | M12x20 | M10x16 1/4"
© ‘ [ _ HT-190 [21.02 | 9.06 | 732 [1024 | 406 | 406 | 157 | 512 | 118 | 142 [ F14 | - [ Mi6x24 - 1/4"
;ﬂ M zw/z 13UNC
‘ ‘ HT-210 [ 2238 [ 1004 [ 795 [1122 | 445 | 445 [ 157 [ 512 | 118 | 142 [ F14 [ - [ Mi6x24 - 1/4"
‘ -— HT-240 | 26.3 | 115 [ 921 [1268 | 51 | 508 [ 197 | 512 | 118 | 181 | F16 | - | M20x26 - 1/4"0r3/8"
§[> > ‘ HT-270 | 2931 | 126 [1041 [1378 | 577 | 579 [ 197 | 542 | 118 | 181 [ F16 | - | M20x26 - 1/4"0r1/2"
|y + ‘ | 1/4 —20UNC—10 unitin
. . .
b> NAMUR 1/2 NAMUR ) Type HTS is the spring retu_rn.
Type HTD is the double acting.
* Bottom drilling complies with ISO 5211/DIN3337 to match valve.
a0 @) @9 ({9anaoai 16 15@?@ * Shaft top end top drilling for assembling accessories are in accordance
[sNeNaNaNe) .
HoHHHAH e — with VDI/VDE-3845 NAMUR standard.
. .
.8 § * For type HTD without part 19.
QxS
28 ? il 2 ‘ | | [ ITEM PARTS MATERIAL
SomIn N I i I 1 BODY EXTRUDED ALUMINUM ALLOY
L JZ7 s | | Wi i 2 CAP
() | : |
SE ! i ! A 3 PISTON DIE CAST ALUMINUM
w | ) — I8 ||| == | B | | NN o g w77 I 4 O-RING NBR
Go 1 € T T 4 2 5 BEARING oM
o | 6 | PISTON GUIDE
YT ! ‘ [ | L™ 7 PINION ALLOY STEEL
= . o 8 O-RING NBR
= I o 9 BEARING POM
z % T W ﬁ\ 10 STROKE CAM ALLOY STEEL
29 11 BEARING
o I .
_g g ‘ é 12 BEARING POM
b 13 O-RING NBR
So
gg Q 9 @) BOW © A@ ® @ © 14 BEARING POM
R " 15 | THRUST WASHER AlS| 304
EZD 16 SPRING CLIP
2 8 17 INDICATOR PVC
£ 4 | i 18 NUT PLASTIC+STAINLESS STEEL
Tl I@ 19 SPRING SPRING STEEL
€358 o o 20 SEALS NBR
L|IJ 4 $ 21 BOLT
3 I I N @» ~ o 22 NUT AISI 304
2 23 BOLT
= 24 O-RING NBR
= o © 25 NUT
zE3 it , 26 BOLT Al 304
o=% - — 27 FLAT WASHER
=<0
EER ‘
&0 sERsjjusss
oM~ : N
24 WRSSRNUERY) A
M
: > 8 CHECK BY DRAWING BY DATE SPECIFICATION Pneumatic Actuator &
o - —
E g ? v HAITIMA CORPORATION Eviéc Apr.27.2010 | waTERIAL Aluminum Revise Description Date Approve
% o E M Pneumatic Actuator g PROCESS/Nr. DRAWING NO. HT 1 H D 1
-—
UNIT / SCALE Ta) OO O

l




